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otherwise Answer-Sheet will not be evaluated.

After Opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and printing of
all the 100 question is proper. if any discrepancy is found, inform
the invigilator within 15 minutes and get the correct booklet.

While answering the question from the Question Booklet, for each
question choose the correct/most appropriate options out of four most
appropriate options given, as answer and darken the circle provided
against that option in the OMR Answer-Sheet, bearing the same serial
number of the question. Darken the circle only with Black or Blue ball
point pen.

Darken the circle of choose option fully, otherwise answers will not be
evaluated.

There are 100 objective type questions in this Booklet. All
questions are compulsory and carry one mark each.
No. negative marking will be done.

Do not write anything anywhere in the Question Booklet or on the
Answer-Sheet except making entries in the specified places.

When the examination is over, original OMR Answer-Sheet is to be
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PART -1

GENERAL MENTAL ELIGIBILITY

Problem discription for Q. 1 -3

Some friends went to Naivaidya Sweets.

8021/TF — BT/PP — M

ammqﬁﬁmzﬁwm

TEaE A Q. 1 -
wﬁmﬁaﬁﬁﬁwﬁnﬁaﬂtmm

Following is the information about the @rﬁﬁr&r{[—vﬁﬁm%aﬁﬁﬁﬂ%ﬁ@ﬂﬁw
number of rasagullas they ate : e gV
i. Gimmy ate 8 less than Akshay i Rt 3 s1er @ 8 9 @
ii. Dilip and Raj together ate 37 ii. freliw of T 7 firerm 37 @R
iii. Jugal ate 8 more than Dilip i, STt 3 Refa & 8 wifrs @
iv. Akshay ate 5 more than Dilip iv. a7er Y fiefiu & 5 w1ftrs @
v. Akshay and Gimmy together ate 40 v. a1er 3 Ryt 3 fireret 40 @@
1. How many rasagullas did Raj ate ? 1. oared TS 3 forae e @® ¢
(A) 18 (A) 18
(B) 24 (B) 24
(C) 16 () 16
(D) None of the above (D) STl # T g TRl
2. Jugal and Dilip together ate how many 0. et 3R fefy 3wk Wy Fr Wed
rasagullas ? @ ?
(A) 48 (A) 48
(B) 36 (B) 36
(C) 40 (C) 40
(D) None of these (D) T8 & HI3 T
3. |f the cost of each rasagullas is X 2, 3. aft ufy TEeen fRud X 2 &, A 37 W
what was the total amount they had e ferma eRTs ?
to pay ?
(A) X198 (A) X 198
(B) X200 (B) ¥ 200
(C) 208 (C) T 208
(D) None of these (D) 38 A IS &
o W & forg v
Space for Rough Work
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4. In the following figure the number of 4, fa w4 A B, C,D,EdmFH @
triangles with any three of A, B, C, D, forel 1 =l 9T o &9 § oo s Brgsi
E and F as vertices is Eakstco ik

A A
B > F B F
C E C =
D D
(A) 11 (A) 11
(B) 9 (B) 9
(C) 5 (C) 5
(D) none of these (D) 3T @ =ig e

5. Number of triangles formed in the 5. fom femr o o9 Biagsti it den @
following figure is
A 2 D A E D

I L : L
F ‘H F H

J K J K
B C B C

G G
(A) 30 (A) 30
(B) 35 (B) 35
(C) 39 (C) 39
(D) none of these (D) = G g &
% & & fore wamm
Space for Rough Work

Set-A
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6. et R ¥ STER el 11U TE o

6. From the following figure maximum

and minimum loan debt lying with the o7 FepraT 5 Tl o6 & 3 8 U
banks are respectively
40 4

40 b S
2 ] ¥ a0 d —
§ 30 __‘ 'E 30
Q o~ 1
s o E 20 [1a}
e & 20 — A @ m a
58 L = E “1 o
§6104 |® g @ 10 4
e O ﬁ
5

Banks =

(A) CBI, IDBI (A) CBI, IDBI
(B) CBI, PNB (B) CBI, PNB
(C) IDBI, CBI (C) IDBI, CBI
(D) SBI, CBI (D) SBI, CBI

If numerical values of A, B, C,..., Zare
respectively 1,2, 3, ..., 26 and ‘O’, ‘LT,
‘A, ‘(Y represent respectively ‘+, -~
‘%', ‘+’, then

BATAJOHDOK=

7. g A, B, C,..., Z % 3ifcrsh UM FHAM: 1,

2.3,..,268 a0, ‘0, ‘A, ) FH:
2, ¢, e, o) e R B, Al

BATQJOHOK=

(A) A (A) A
(B) B (B) B
€ C (C) C
(D) Z (D) Z
% & & foru vam

Space for Rough Work

Set-A
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8. Acardriver knows four different routes 8. U FR gree fdoelt @ eﬂama;ar( 3T
from Delhi to Amritsar. From Amritsar ST 7T ST R Wﬁmaﬁ
to Pathankot, he knows three different it 3 S TEERE Y
routes and from Pathankot to Jammu S =Eic g ‘ I !
he knows two different routes. How e 31 A S @ | Sfefred ¥ ool & sy
many routes does he know from Delhi oo fere AR ST 7
to Jammu ?
(A) 36 (A) 36
(B) 24 (B) 24
(C) 12 (C) 12
(D) None of the above (D) U ° & WIS Tl

9. AwomanhasRs.4,800inthedenomination 9. U INAHUEEET, 5= T 3 H T oI
of ten rupee notes, fifty-rupee notes and ¥ 4.800% ]g,ﬁwgﬁﬁ
hundred rupee notes. The number of } T4 ® i
notes of each denomination is equal. <l | A B, "ﬁﬁ’_a fehei e & 7
What is the total number of notes ?
(A) 60 (A) 60
(B) 90 (B) 90
(C) 30 (C) 30
(D) None of the above (D) 3wl o g &I T8l

10. In the following series, find out the 10. Te=faRaa soft 4 mera 37 I &0 ¢
“Wrong number”.
28, 84, 112, 196, 308, 504, 872, .... 28, 84, 112, 196, 308, 504, 872, ....
(A) 308 (B) 112 (A) 308 (B) 112
(C) 872 (D) 196 (C) 872 (D) 196
11.  Which term will be the first negative 11. TafeRaa Sroft 7 vy ssorTenss g shiad
term of the following series ? 7
45, 40, 35, .... 45, 40, 35, ....
(A) 10" term (A) 109 g
(B) 11"term (B) 11 & ug
(C) 12"term (C) 1247 ug
(D) None of the above (D) 39U A U IS T
T & o g T
Space for Rough Work

Set-A
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Problem discription for Q.12-14:

In a row of soldiers facing North

i Lambert is 8" to the right of
Khurusheva ;

ii. Mickey is 16" from the left end ;

iii. Lambert is 16" to the right of
Jackson, who is o7 from the right
end of the row ;

iv. Khurusheva is nearer than Mickey
to the right end of the row ;

v. Thereare5soldiers between Mickey
and Khurusheva.

12. Howmany soldiers are there between
Jackson and Mickey ?
(A) Two
(B) One
(C) Three
(D) Data inadequate

13. How many soldiers are there in the
row ?
(A) 36
(B) 40
(C) 50
(D) Data inadequate

@ & & T

8021/TF — BT/PP — NI

. @ﬁwaazraﬁaﬁtsa?s‘fmi%;

i a er w fre 1641 7 ;
i, éraé,amasam"tsﬁusaﬁ,shm%
i Sy 27 A8 A

iv. @ﬁm,ﬁ@@aﬁmm%aﬁzﬁt%w
2
v, ey afi e & s 5aFEHT |

12, waEd SEE @tﬁaﬁ%a‘\a%ﬁ@rﬁaﬁ
27
(A) Q
(B) &=
(C) dW
(D) w1t

13, a3 g P AFER T 7

(A) 36
(B) 40
(C) 50

(D) =@ F

Space for Rough Work

Set-A
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14. How far away is Jackson from the right 14, ST FARFH IR SR A FHAH TR L ?
end of the row ?
(A) 24" (A) 245
(B) 25t (B) 254t
(C) 27" (C) 27 af
(D) Data inadequate (D) sTer 37t
15. If Ram is in the West of Shyam and 15. 9f 1, W % ufRm o € i ww, vam
Kareem is in the North of Shyam, in F 3w AL, dvm Y grve s Beg R i
what direction is Kareem with respect ? ’
to Ram ? & |
(A) North-East (A) STR-gd
(B) South-West (B) gfdr-ufyam
(C) South-East (C) af&ur-gd
(D) North-West (D) SaX-ufesm
16. In the following figure the number of 16. F=fmdNiO,, 0,0, 0, 0, Od
triangles with any three of the vertices dfFddaas ﬁg:ﬂ‘r EARSTC I
0,,0,0,0,0,,0,is
0, YO YO,
4 OS 06
(A) 9 (B) 13 (A) 9 (B) 13
(C) 12 (D) none of these (C) 12 (D) &8 & TS
@ w & oo v
Space for Rough Work
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17. Missing number in the following

figure is :

2 |16 | 1

12?2 | 7

513 |11
(A) O (B) 13
(C) 1 (D) 8

18. Missing number in the following

figure is :

513 ]1 0

312|122

1 3|l 3] -2

? 1 315
(A) O (B) 3
€) 5 (D) 2

19. The missing number in the following

-9-
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17, P o i frgg S

2 |16 | 1
121 72| 7
53|11
(A) O (B) 13
(C) 11 (D) 8

18. fr= o o g v 7

5183 [1]0

3|2 |2]2

Tyless |l 3172

7 11 | 8kb
(A) O (B) 3
(C) 5 (D) 2

-M

figure is :
717 |13 7| 7?7 |13
13 112 | 11 13 | 12 | 11
19114 | 9 19 14| 9
(A) 20 (A) 20
(B) 10 (B) 10
(C) 11 (C) 11
(D) 22 (D) 22
T & W forg sam
Space for Rough Work

Set-A
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20. If a cube is formed from the following 20. FRFm R e s st A TR 5

figure, then the number opposite of | % foudia T @
face 5 is ‘
2 2
3|5 | 3[5]
6 | 4 | 6|4
1 1
(A) 3 (B) 6 (A) 3 (B) 6
(C) 1 (D) 2 (€ 1 (D) 2

21. Inthe following figure the letter opposite 21, 4= foa o wag B & foodia ssm
of face B is

22. If faces of a cube are marked by 22. i U o o gag! sl vk fafdre Yot w i
some special pattern as shown in the Tz o S faf=a R B, w1 4 % faoda
following figure, then what will be the Hag W e | e ?
number opposite to face 4 ?

\{’ 1 ‘ ‘ N K
s.‘\\\\\‘ ,“s\\\‘;\v NN
(A) 121 B) 9 (A) 121 (B) 9
(C) 25 (D) 169 (C) 25 (D) 169
% ®wE % foo wem |
Space for Rough Work

Set-A
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23 What should come next in the series 03, e Suft & svrell e e gl ?
below ? 122343456 . . .
122343456 . . .
(A) 34567 (A) 34567
(B) 45678 (B) 45678
(C) 6789 (C) 6789
(D) None of the above (D) IR | § IS TE
24. Which of the following will come in o4, FrefaRaa sigen 1 wefas (7) % M ®
place of the question mark (?) in the e fesedt o 9 & TR ¢
following sequence ? 16D7, 18G10, 21K14, 25P19, ?
16D7, 18G10, 21K14, 25P19, ?
(A) 30K20 (B) 30V25 (A) 30K20 (B) 30V25
(C) 30K24 (D) 29V25 (C) 30K24 (D) 29V25
25. Complete the following series : o5, frfafaa Soft qof =R
BZ, HT, NN, ?, ZB BZ, HT, NN, ?, ZB
(A) LF (B) SX (A) LF (B) SX
(C) Ti (D) TH (C) Tl (D) TH
26. Whatis the next alphabet in the following 0g. TiefRa Soft 1 swren ool e g ¢
series ? ZYXWTSRQNMLK
ZYXWTSRQNMLK
(A) 1 (B) G (A) | (B) G
(C) H (D) J (C) H (D) J
27. Study the following series : 07, F=ffaa Soft &1 svemE A :
SQA5N%T7B4#JE§2T SQA5N%T7B4#JEH2T
D*18H3U@9FWGK D*18H3U@9FWECK
Which of the following is the seventh Syl Aoft & arft AR 15 9 F SRl AN
to thg left of the fifteenth from the left 7 at R ?
end in the above arrangement ? '
(A) H (B) B (A) H (B) B
(C) 1 (D) 7 (C) 1 (D) 7
% H8 o forg T

Space for Rough Work

Set-A
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28. The missing number in the following 28. fmafmd fage gem?
figure is :
6 6 | 20 6 6 | 20
20 | 42 | 42 20 | 42 | 42
? | 72 | 110 ?7 | 72 | 110
(A) 110 (B) 45 (A) 110 (B) 45
€) 72 (D) 52 (C) 72 (D) 52
29. If ‘A’ means ‘+’, ‘0’ means ‘~’, (Y 29. A ANFIFR Y, ‘DFafd—, (¥
means ‘x’ and O means ‘+’, then w7 37 § ‘x’ geT ‘O’ah‘[aqaf%‘_;_’,aa
302()14602= 302()14602=
(A) 6 (B8) 12 (A) 6 (B) 12
(C) 13 (D) none of these (C) 13 (D) 378 B =i 7
30. If‘IT means ‘Govt. Hospital’, ‘A’ means 30. Ifd ‘O = 31 § T T, ‘A’ H
‘Private Hospital’ and ‘O’ means e @ AT srmarer et ‘O’ W i @
‘Corporate Hospital’, and number st’wwm@m@
inside them denote the number of T SRR T a AfE! <6 den ®
outdoor patients in them in thousand : B i Nt & @
per day, then the maximum number of 8, ) 1 T
patients per day is in ? g
3 3 3 3
3 3
ﬁ 7 ﬁ 7
3 3
(A) O (A) O
(B) A (B) A
(C) O (C) O
(D) all the three have equal patients (D) =t of = A A <t o ToA R
W wTd & forg Tam
Space for Rough Work

Set-A
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PART - II
GENERAL KNOWLEDGE | 7
31, Gandhian plan is associated with 31, mith @ fred wefua B 7
(A) John Mathai (A) ST TS
(B) H. Visvesarayya (B) wH. favadtan
(C) Shrimannarayan (C) Hiw=rramoT
(D) None of above (D) ST § HIg &
32. Which of the following banks must 32, wrdty ferd e o g fretfa €. s .
keep the CRR (Cash Reserve Ratio) (31 T YoM et R Pfrad |
as fixed by Reserve Bank of India ? 3 3 et & ot e 7 7
(A) All Public Sector Banks (A) woft arderes & o
(B) All Commercial Banks (B) &t SEETRE S
(C) All Private Banks (C) wft fsht <
(D) None.of above (D) 3wed ¥ I3 &
33. The Headquarters of World Trade 33. fiva ST EEA h TR el © 7
Organisation is at
(A) London (A) e
(B) New York (B) =
(C) Geneva (C) Toman
(D) None of above (D) SWIF | I3 &
34. Paradeep Portis in 34, JAINE FE 8 ?
(A) Orissa (B) Maharashtra (A) 3hifean (B) wERIS
(C) Gujarat (D) West Bengal (C) T (D) uf¥aw T
% W o forg s
Space for Rough Work

Set-A
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35. Who is known a father of modern

36.

37.

genetics ?

(A) Hargovind Khurana
(B) Charles Darwin
(C) Gregor Mendel

(D) None of above

What is Sri Harikota ?

(A) Satellite Launching Center
(B) Thermal Power Center
(C) Hydro Electric Center

(D) None of above

By which Institution was “continuous

-14-

35.

36.

37.

0 00O 0

AT 1 S foFel a1 ST & 7

(A) T g
(B) dTed ERfeH
(C) R e

(D) I § HIg TE

ft sl g 7
(A) ITTR Y& F5;
(B) am forga 5
(C) et farega s
(D) 3w # 1g e

Thel R1&n # “Had UE 9y Yeaish Sfshn

and comprehensive evaluation” started forg e @ mgﬁ T ?
in school education ?
(A) CBSE (A) . €.
(B) UGC (B) T4,
(C) SCERT (C) wE. . €. 3. &,
(D) IGNOU (D) 3+ (31E.5M.uA.37.7, )
TR &1 o foru e
Space for Rough Work

Set-A
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38. Angawas capital of which of the following 38. T fohE WIS 1 TSTETT o ¢
Mahajanpada ?
(A) Kausumbi (A) gt
(B) Vaisali (B) AuTredt
(C) Champa (C) |1 !
(D) None of above (D) 3w & H¥E TR
39. In the second half of the nineteenth 39. 193 yrareth % g Wit H Feht farse fored
century the Kuki revolt was associate gEfEa o ?
with which of the following ?
(A) Bihar (A) ToEr
(B) Orissa (B) sifgan
(C) Tripura €) Pgu
(D) None of above (D) IR # 1§ T
40. Chennakeshava Temple at Belur in 40. S T AR TR e wafRa ¥ 7
related to
(A) Hoysalas (A) BrEEe
(B) Kesariyas (B) st
(C) Gangas (C) T
(D) None of above (D) I § wIg TE
& e & fore v
Space for Rough Work

Set-A
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41. 10+2+3 system of Education was 41, fram <t 10+2+3 g ey o ma
introduced through
(A) Kothari Commission (A) BRI TR g
(B) Mudaliar Commission (B) HETorIR AT 51T
(C) National Policy of Education 1968 (C) T fram Hifa 1968 g
(D) National Policy of Education 1986 (D) T fan +ifa 1986 g
42. The Shantiniketan was established 42,  SrifafeRa st STOAT <l 8
by
(A) Swami Vivekanand (A) Tt feEer= gr
(B) Arvind Ghosh (B) anfemg =y gr
(C) Rabindranath Tagore (C) gy &R gR
(D) Swami Dyanand (D) @l ga= g
43. Among the following themes, which is 43. = e ® woremn foepre & o fe ot
essential for the quality enhancement Ta o afad g ?
in higher education ?
(A) Ranking of higher education (A) 3= frer seerri  doft s (ER)
institutions FEY
(B) Linking higher education to (B) wu ¥ 3= fYrem o1 wiew
society
(C) Promoting research and (C) -EM=IR e SNy ! g e A
innovations ,
(D) All of the above (D) 3ulrra w+fl
I wE o o v
Space for Rough Work

Set-A
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44,

45.

46.

Impeachment of Supreme Court
Judges is provided in which of the
following Article of Constitution of
India ?

(A) 124(2)
(B) 124(3)
(C) 124(4)

(D) None of above

Article 3 of Constitution of India is not
related to which of the following ?

(A) Increase in area of a State

(B) Alter the boundaries of a State
(C) Alter the name of a State

(D) None of the above

Right to property was removed from
Part |l of the Constitution of India by
which of the following Amendment of

Constitution of India ?
(A) 42 Amendment
(B) 43< Amendment

(C) 44" Amendment

(D) None of above

-17-

44,

45,

46.
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IS e % e Wi Wi
¥ wferam % o erg=es & weuTa § 7

(A) 124(2)
(B) 124(3)
(C) 124(4)
(D) IR & g &

R & dfau & w9 - 3 FrekiiRed
# 9§ Forerd weiftra i 8 7

(A) Treht = =1 &Ewd SRl

(B) foreh g <Y meTt & uferda

(C) Treht T & A | uitEdH

(D) SRIT & HIg T8I

a3 T WOt 1§ g A STfeeR
forg Sy geiE g g T ¢

(A) 42 3 Tened
(B) 433 TMeA
(C) 44 3 Hned
(D) IR & 1S &

@ & G e T
Space for Rough V' -k
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47. Arrange the ocean deposits starting 47. TETEFHR Fa & e % AUR WHR
from top to bottom. = & w0 1 afem Al |
1. Blue mud 1. ieft v
2. Red clay 2. o gfwer
3. Caleareous materials 3. YR veret
4. Siliceous materials 4. Toferp gum e
(A) 1,2,3,4 B) 1,3,2,4 (A) 1,2,3,4 B) 1,3,2,4
(C) 1,8,4,2 (D) 1,4,2,3 (C) 1,3,4,2 (D) 1,4,2,3
48. Which of the following is happiest 48. 2018 ¥ fova 1 Te T W HAAT R ?
country in 2018 ?
(A) Norway (A) =
(B) Denmark (B) STaTh
(C) Finland (C) fFrtvg
(D) None of above (D) IR § 1§ Tl
49. Stalactite and Stalagmite are found in 49. Irygare IR Fega™y I S 8
(A) Kutumsar Cave (A) HZHE THT
(B) Bango Cave (B) I 1
(C) Dandak Cave (C) <% Tl
(D) Aranyak Cave (D) 3wFsh THI
50. The disease sickle cell anemia is 50. fieret @ O fras gra g ® ?
caused by
(A) Iron deficiency (A) 3T hi HH
(B) Malarial Infection (B) waifem &1 $%eH
(C) Poor hygiene (C) &= 9T% %17
(D) None of above (D) 3w | g TE
% HwE &% foro e
Space for Rough Work

Set-A
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PART -1l
EDUCATIONAL INTEREST reror sriirs
51. When a child takes moral decision on 51, o IS T QAT 4 UE GO 3 ST
the basis of anticipated punishment e Fo dar g arag ¥ TR
and reward, he is passing through waAe |
(A) Conventional morality - (A) TR Afdshdn
(B) Preconventional morality (B) qeurrae ek
(C) Postconventional morality (C) Serarrufier Afereen
(D) Intentionality and restitution (D) 3T TE Yo
52. In programmed learning the learning 52. wrlwmie srfirm # feor wmfirn w1
materials are properly arranged by wﬁwﬁmﬁmw% |
level.
(A) graduated difficulty level (A) it BT T
(B) graduated discrimination level (B) it fadied &R
(C) graded duration level (C) s 3@ &)
(D) graded distraction level (D) shitres frmor &1
53. The right sequence of vicarious 53. T ST wisHan feeT g sHeaEn
learning process which is used in aiefeam vl § g 8, o1 wel U
behaviour modelling process is R
(A) motivation, motoric production, (A) aHrre, Yefta IeaTeH, awon T &M
retention and attention M1
(B) attention, motoric production, (B) v, el Seured, TRON T SRS
retention and motivation
(C) attention, retention, motoric (C) wam, awen, el Seared TE AR
production and motivation
(D) retention, attention, motivation and (D) Gmer, e, SRR e YeiE Sedred
motoric production |
% &1 & foe T
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54. Education by the sports is 54. @S % wieaw g e
(A) Psychological (A) TR B
(B) Non-Psychological (B) AT &
(C) Suppresses the creative tendency (C) TIcHS Br{f%l i eard! 8
(D) Suppresses the tendency of (D) H{éﬂqﬁrﬁm%

grouping

55. Which factors are related to the 55. TrefaRea & @ e ao o= Wi
characteristics of good test in the fersrwanedt @ gt 2 7
following ?
(A) Reliability (A) Tageaea
(B) Validity (B) et
(C) Objectivity (C) a&qisaa
(D) All of above (D) ST |t

56. When was ‘IGNOU’ established in 56. WRd # IGNOU’ &t Tore e gt ?
India ?
(A) 1982 (A) 1982
(B) 1983 (B) 1983
(C) 1985 (C) 1985
(D) 1987 (D) 1987

% &E & e
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57. Quantitative techniques measures 57. ufwmnenss yfattat am s @
(A) Verbal measurement (A) yTifeesh ATy <ht
(B) Non verbal measurement (B) 3T3TTfeesh W9 <R
(C) Oral and written techniques (C) e g forftaa wfafert &1
(D) None of these (D) 374 9 IS =l
58. Which of the following purposes 58. FrfiiRaa i & foress ford foramenes s1gma™
demands Action Research ? H AT FAT B B 7
(A) Testing a theory (A) Torgra weor §
(B) Writing a thesis (B) Mu-yery fore §
(C) Developing a theory (C) forgra fosfia w1 4
(D) Solving a classroom problem (D) heTT T GHET SHT AT FE
59. Which of the following is a nonformal 59. fFfafiga d Qe aﬁé«ﬂ:{maﬁmﬂrﬁa
media of instruction ? e ?
(A) Teleconferencing (A) TeftmimiRm
(B) Radio (B) g
(C) ETV (C) 3 eefifers
(D) All of these (D) Iwier gt
60. A subject which is taught by a teacher 60. Rrers gRT e SeTer fowa g anfed
must be according to the
(A) Mental level of students (A) BT % AR W % IFER
(B) Knowledge of teacher (B) frerh % TH % STER
(C) Interest of the teachers (C) Treger 1 v & IEN
(D) None of these (D) 310 & IS T
% & & oo wam
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61. Ineducational psychology 61. femuafagmd v T
is studied. ST e |
(A) utility of education \ (A) frea <t 3wnfimar
(B) processes of learning and teaching (B) e aen freror i wfsham =t
(C) utility of principles of psychology (C) "z & Freml & 3u=i =1
(D) ways of psychological solution to (D) T3 & HARTING THIUT %
problems aleni
62. “The things which are complex and 62. ‘it oft i sifeet wa shfe et €, mfersh &
difficult, goodforthe mind”. This statement o sam at € | =9 ek sh1 Tee] wEee
is directly related to theory. _ wfhgE@azw
(A) formal discipline (A) 3NT=iER ST
(B) identical element (B) ©9EY deal
(C) generalization (C) |rHT=TeRtu
(D) transposition (D) warrat
63. Formula of educational quotient is 63. et afed 1 4= g
EIEIEED
(A) —MentalAge 44, (A) N 100
Chronological Age SHIAHA 3
i NIfSED
(B) Educational Age 00 (B) il 100
Mental Age A
i e ,
Educatlon.al Age 100 (C) Sk <100
Chronological Age hicTshH 3ATY
AR
) Mentgl Age .00 D) e 100
Education Age Siféres o1y
@ & & e T
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64. Possibly suppression of impulses of 64. TE! * AT w1 A A W T9FA:
students given rise to
(A) They follow the discipline (A) A HATITEA AT T 3
(B) Feeling of revolt can rise (B) 3 s a1 99 TR ©
(C) Their creative power is frustrated (C) 3Teh GorTensh TIfoRT Hod &1 STl &
(D) BothBand C (D) B 3R C gHi
65. Who among the following can be called 65. Trfafaa § @ el Tg & Fafar a1 s
nation builders ? a1 g ?
(A) Principal (A) =
(B) Headmaster (B) wumT=R @i
(C) Teachers (C) forereni =1
(D) Political leaders (D) Ttfaeh Aqgea Faien
66. During teaching, a teacher gives 66. fram & <A T e IeTEW I g,
example FifH
(A) To attract students attention (A) Ol T I ST L Tk
(B) To make lesson interesting (B) 413 = e FH TG
(C) To explain the lesson (C) U3 ! §HFTH T
(D) To continue the lesson for long (D) W13 T T THI T TG o
time
67. To prepare students as good citizens 67. BEI ! Igu AN TR TG e A
a teacher should =fed, T ’
(A) Maintain strict discipline (A) IR IFIATEA §IC T
(B) Provide good leadership (B) ITH T YEH B
(C) Be good actor (C) Ium e &
(D) Have good general knowledge (D) | AW §H &
% &1E & e v
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68. Contribution of. is appreéfable 68. TrmmamFRiqerenFaTy
in the field of developmental task. T IR T 8 |
(A) Skinner (A) fep=
(B) Havighurst (B) 3fermeee

| (C) Jones (C) I
(D) Hurlock (D) &

69. According to Piaget children aging 12to 69. TSI % TgER 12 ¥ 16 T 1Y & I
16 yeafs are at the stage of e farepTa Y areree o
of cognitive development. TR | |
(A) Formal operation (A) siu=nies dfsea
(B) Sensory-motor (B) wadt-usfia
(»(‘3‘)» Concrete operation (C) 3 wfsrn
(D) Preoperational (O RIETIERIED

70. Which is called Keller's plan ? 70. Shoor QST fRd Rt STaT R ?

(A) Personalized system of instruction (A) Féw & Safeas
(B) Computer assisted instruction (B) P HgRaT YT fHew
(C) Linear programme (C) & T
(D) Branching programme (D) I gwmy
W wE % forg weum
Space for Rough Work

Set-A



0 A0

-25- 8021/TF - BT/PP - M
71. Intelligence quotient can be the 71. Sfeafdn o1 S S g § |
example of s
(A) Interval scale (A) At =9
(B) Nominal scale (B) =Tires Hrat
(C) Ratio scale (C) rgura Ao
(D) Ordinal scale (D) sftes AT
72. Mental health is 72, Arafyes ey ®
(A) Harmonious functioning of the total (A) Hqot sxfdea 1 TAT S FET
personality :
(B) Symptoms of maladjustment (B) TSR % WUl
(C) Terrible excitement (C) i IcdT8
(D) Throwing up temper-tantrums (D) Y T FeIH
73.  Which of the following strategies is most 73. Tafafaa ffeaid o e S e w i
suitable for introducing a lesson ? W ToR wwy s1fren sugE ©
(A) Lecture (A) ST
(B) Demonstration (B) wezH
(C) Questioning (C) I 31
(D) Explanation (D) =are
74. An effective teacher adopts the norms 74. W gwEee fetes _g____ % HHR hl
of the . UL R |
(A) Autocratic society (A) TS TS
(B) Democratic society (B) SITaTf=eh HISI
(C) BothA+B (C) S-1 A+B
(D) None of the above (D) 3wliFd | ¥ HIg &
T & & fo7g Tu=
Space for Rough Work
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75.

76.

77.

That effect which shows that a person’s
behaviour can change simply due
to his being subject in any study, is
called

(A) Experimenter’s effect
(B) Self-fulfilling effect
(C) Pygmellion effect

(D) Hawthorne effect

A child is able to recall name and face
of a person quickly. Learning style of

this type is called

(A) concrete style

(B) field independent style
(C) field dependent style
(D) free style

term is used by name

psych’ologists for the range of possible

“ outcomes (phenotypes) for some

-26-

0 O At

75. o8 SYagR S I8 feweran @ fon fordt aveaem

76.

77.

o T IS T9IST B @ & safewt 1 sgeER
vfafda g dear 7, & B
ST g |

(A) SEIRTERTl g9

(B) SMTeH-TRYTH i

(C) fomferm ywma

(D) B1H 9

TS ST ! TRl & 1 Td <8y & fova
T S B IS AT ST § | 39 L sht AR
et A __ FETITETR |

(A) 3T I
S IGEESCER S
(C) &= anidra Seh
(D) waa et
T2 1 ITAN T FHagIeh

3 fordl ufted W f@ ™ eramyd
srgafyrs gy (Aersy) W garfad

. Iufedr (Thlersy) o T o ford feka st
variable, given basis genetic pattern. 2
(A) Reaction range (A) Sfafshan TR
(B) Threshold range (B) 31T Y8R
(C) Reflex range (C) wfead v -
(D) Genetic range ( (D) STHATR™F FER
% w1 & forg T
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78. Psychologists who study teaching- 78. warawifIe o fadiy @y & seeRl H
learning processes of children of a f3reqor-3rfrm yfeRanaTl ot s1egTs, Hamalt
specific group in classroom, are called e FET TR |
(A) educational psychologist (A) Tren wasnts
(B) counsellor (B) wwsicrdm
(C) psychotherapist (C) wifafheaeh
(D) psychoanalyst (D) wRifarveiveh
79. Spanish speaking person easily gets 79. wfyer ot afers sEr & S oW o
skill in French language. This process SreftoTerT ST T § | 59 SR B
is called as HE[ ST € |
(A) positive transfer (A) EFTEHE ST
(B) negative transfer (B) RUTTcH STaR0T
(C) zero transfer (C) I 3T
(D) lateral transfer (D) wifdfes 3rawur
80. Ramesh is interested in knowing how 80. THYI ¥ ST i THHK T arfirely w@ar §
people behave on their task. If, he &?ﬁﬂmﬁaﬁlﬁﬁﬁmmmmm
wants to make this interest his career, € | 3R % 39 five @t 3 Sftew i
then which field of the following will be (%) s TR 2, o Freifea 5 |
the most appropriate ? $AT g}amm—gﬁm ?
(A) Industrial/organizational (A) 3enfres/dnaTeaes wRfEH
psychology
(B) Forensic psychology (B) =nfres mfame
(C) Environmental psychology (C) wataweft gfasH
(D) Human factor psychology (D) TFEsHREh TSI
TF &E & fo1e TorA
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PART - IV
GENERAL HIND! / wmr &=t
81. TTH U FHHI I1aE T I IhdeF AT 7 86. v ilmgw AW
(A) sToT (A) Tof form
(B) o3 (B) 31eq frm
(C) & (C) #rereh forg
(D) ™ (D) Tt fog
82. ‘TN FoN H T gl 1=l faedl & 39 87. Frffaa vse w1 g wa AR ?
T N eI FIRToT il Shelt STaeen g 7 (A) TRfErd
(A) Teee (B) wftfeufe
(B) TR (C) wiifeufa
(C) ITmTaEen (D) wifeerd
D) swwa # & g el
® 88. ‘T TE % TRl & o e X oft ay Frer i
83. T FRawERF S ? BT’ U R aE AT g ¢
(A) gad (A) O IR
(B) wast gt (B) T s
(C) wifgee (C) W« =
(D) 3fcdrea (D) Terarur Suare
84, Mg A BREAY F s e ? 89. ‘weE W ueH’ HEeR i 379 B
(A) wig For (A) s asm
(B) Iftrex (B) wfeagi g
(C) &far (C) | I
(D) Zg 5« (D) = | g
85. ‘=z frg TR AT IeE R 7 90. TRV ¥ YW dedl b & 7
(A) <=t (A) T
{B) qeyd (B) @
(C) wrft (C)
(D) T B (D) 9K
T & & fore s
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PART -V
GENERAL ENGLISH/ Tam=g 3/sit

Most people lead the lives that circumstances
have thrust upon them. But Wilson had boldly
taken the course of his life into his own hands. At
35, he had quit his job to lead a pleasant life on
an exotic island with just enough money to last
for twenty five years. Once, fifteen years after
- he had been on island, | happened to meet him
and enquired about his financial situation. He
said, “It will carry me on till | am sixty”. “But one
cannot be sure of dying at sixty”, | said. “Well ...”
he replied, “it depends on oneself, doesn't it” ?

Direction : Read the above passage carefully
and answer the questions from 91 to 93.

91. According to the author, most people

(A) Do not allow circumstances to
affect their lives

(B) Have fatalistic attitude towards life

(C) Do not know how to cope with their
situation

(D) Do nothing to change the condition
they live in

92. Wilson’s boldest decision was that he
(A) Quit his job

(B) Saved a lot of money to lead a

93.

94.

95.

96.

8021/TF - BT/PP - M

“ ... depends on oneself ” suggests that
Wilson at 60, would

(A) Depend on his own resources
(B) Surrender him to destiny

(C) Take away his own life

(D) Carry on living in the same way

Out of the alternatives given, choose
the one that can be substituted for

‘an official statement that allows people
who have been put in prison for crimes
against the state to go free.

(B) amnesty
(D) alimony

(A) atavism
(C) anomaly

Find out the correctly spelt word from
the following :
(A) neccessary (B) necesary

(C) neccasery (D) necessary

‘He is employed the
Manuscripts Department
the British Museum’.

Choose the prepositions in correct

pleasant life order to fill in the blanks in the above
(C) Preferred to live in isolation sentence.
(D) Wanted to live without depending (A) in, at (B) at, in
on others (C) in,in (D) on, at
% wE & e e
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97. Choose the correct sentence 99. S1: The heart is the pump of life
(A) If I have time, | should visit the S6 : All this was made possible by
exhibition. the invention of the heart-lung
(B) If | have time, | would visit the machine.
exhibition. P: They have succeeded in heart
(C) If | have time, [ shall visit the transplants.
exhibition. Q: Now adays surgeons are able to
(D) If I have time, | shall have visited stop a patient’s heart and carry
the exhibition. out complicated operations.
Direction for questions 98 — 100 : In R: Afewyearsagoitwasimpossible
each question there is a passage of six to operate on a patient whose
sentences. The first and the sixth are given heart was not working properly.
in the beginning. The middle four sentences S: Ifthe heart stops, we die in
in each have been jumbled up and labelled about five minutes.
PQRS. Find out the proper order for the four (A) SQPR (B) SRQP
SERIENEES: (C) SPRQ (D) SRPQ
98. Si: ;?tgﬁf;égﬁy made several films 100. S1: Janaki said on the phone that
| . she would report for duty the next
S6 : But today few think of Ray as a day.
maker of children’s films.
P: latter film-makers have followed S6: Eventually we reported to the
his lead. police.
Q: Today other nations are making P : We waited for a few days and then
children’s films in a big way. decided to go to her place.
R: This was at a time when no Q: But she did not.
director considered children as
potential audience. R: We found it locked.
S: Ray was, thus, a pioneer in the S: Even after that we waited for her
field. for quite a few days.
(A) PSRQ (B) RSPQ (A) PRSQ (B) QPSR
(C) RSQP (D) SQRP (C) QPRS (D) SQPR
T & o foTg T
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Time for marking answers : 2 Hours Maximum Marks : 100

1. 39 999 IRt H 100 W9 R | Is WR 1 37 T § | At TeA A STfa g
2. T % W & 1S OMR 3-3fle (Answer-Sheet) W 3ifa Fifsw |

3. RUITCHS HoATHA 81 foRaT STe |

4. Teh off qU' 3 Shorpoiet 71 @i 2uel Td HISTEE BIF o 9E0 affa ¥ |

5. OMR 3w~ (Answer-Sheet) =1 THIT id G0 VH! i ST@TEet 7 std o 98 % 9 a1
31 A 41 fretae onfe ug 9™ a1 o8 wye 8 I’ |

te :

This question Booklet contains 100 questions. Each question carries 1 mark. All questions
are compulsory.

2. Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds and wrinkles.



